Fluency Fifteen (Tsession2)

1. What is the value of the underlined digit? 1013

2. Write all of the numbers that have a 3 in the ones
digit?

56 89 539 60 263 1006
3. is 10 less than seven hundred and three.
4. is 100 less than four hundred and thirty.

5. What number is the arrow pointing to?
44 48 56 60

A A D
— B —

6. Can you write the next three numbers in this
sequence?

850 900 950
7.270+ 30 =
8.329-19=
9.5x6=

10. 70+10 =

11. What is the missing number from the bar model?

50 50 50

12. True or false, the Base 10 represents one
hundred on sixty three.

[E

13. Which is the odd one out?

AN

14. How many months are there in a year?

15. Wh|ch four coins could be used to make £17?




Fluency Fifteen ===

Answer

J

1. What is the value of the underlined digit? 1013 0
2. Write all of the numbers that have a 3 in the ones
digit?

56 89 539 60 1006

3. 693 is 10 less than seven hundred and three.

4. 330 is 100 less than four hundred and thirty.

5. What number is the arrow pointing to? 52
44 48 56 60

A A B
— T

6. Can you write the next three numbers in this
sequence?

850 900 950 1000 1050 1100
7.270 + 30 = 300

8.329-19= 310
9.5x6=30
10. 70410 =7
11. What is the missing number from the bar model?
150
50 50 50

12. True or false, the Base 10 represents one
hundred on sixty three.

1S

13. Which is the odd one out?

— ) A

14. How many months are there in a year? 12

15. WhICh four coins could be used to make £17?
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